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7.5.2
36b (2 73wmn) 2 37a (K17 ARYIT TTIY IND)

I. 2 mwn: naw prohibitions of Mmaw, mw1 and mxn extend to v (p to NaV)
a. maw: climbing a tree, riding an animal, swimming, clapping, slapping (hand on thigh) dancing
b. mwrjuding, pvr1Tp, N¥YN, M
c.  mym declaring wTpn or nIN, separating n™1In
i. Insum: only difference between v and naw is wa1 Y21R
II.  Analysis of these various nmoR
a. Climbing a tree: prohibited as a precaution against cutting fruit
b. Riding an animal: precaution against violation of mnn
i. Challenge: does this mean that Xn»1RT pPRINN (a marginal position of »™)?
ii. Rather: precaution against his cutting off a branch (to use as a whip)
Swimming: precaution against building a raft
Clapping etc: precaution against making an instrument (see 1230 2”701 on .% N¥’3; above, p. 23)
Judging: even though he is doing a mxn, called “mw1” in a case where there is a more senior judge there
pwrrp. called “mwa”in the case where he is already married and has children
Y5 0137 called “mwa” in case there is an older brother — per the rule Y132 mxn
i. Note: all of the "mw~” prohibitions are a precaution against writing (10v)
h.  om wipr precaution against transacting business
i.  »”1m should be obvious
i. 9o» 27 even to bring NN to 102 on V"V (VA HNR)
ii. Qualifier (901 37): only MoR in case of Y2v from before V"
1. But: 520 that became obligated on v —e.g. dough for nYn —is permitted on v"v
j.  General assessment: all of these are also considerations of maw and mw
k.  Rather (jpny’ *7): not only maw (alone) is Moy, but also if it involves courts — and even if it involves a mxn
III.  Challenge to exclusive difference (at end of mwn) — from &:n nx»a
a.  /mwp (above): we may move fruit through window on v but not on naw
i. Answerl (901 27): 8™ vs. YOI’ 1 in case of 112 NRY IMR that fell into pit on vV (2:3 N¥’2 RNALIN)
1. ~77: take one out and slaughter it, feed other one in pit
2. ywi7 /7. use NnN — take one out and “change your mind” and pull other out
3. Block (»a): perhaps 8" only bans nn7yn since other animal could be fed
a. And: perhaps yvi "1 only allows it since there is “legitimate” deception
ii. Answer2 (977): w"1vs. 0”1 (2n:R N¥1) - whether we apply 7nn to carrying
1.  ®»”2 may not carry child, 2%1% or 7N 190 on V" in 1M
2. 77z permitted (as a result of "pnn”)
3. Block: perhaps "1 only bans carrying, but not %1050
a.  Save: isn’t 9109V an extension of NR¥IN NOR?
i. Note: see 77arM 0”an7 at »-2:7> N2Y MION
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